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21%E | 7,156 3.1| 2,407: -4.3|2.97| 19,835 4.1 10,150; -3.1| 1.95[1,046: -3.9| 43.4
284 || 7,686: 7.4 2,420¢ 0.5 3.18| 21,419: 8.0/ 10,125 -0.2( 2.12| 1,040 -0.5| 43.0
294 | 7,954 3.5| 2,388: -1.3|3.33|22,470; 4.9]| 10, 281 1.5] 2.19](1,002; -3.7| 42.0
30FERE || 8,047: 1.2| 2,270: -5.0{ 3.55|22,914: 2.0/ 10,238: -0.4| 2.24} 921: -8.1| 40.6
JTEE || 7,855 -2.4| 2,220i -2.2| 3.54]22,439; -2.1] 9,982: -2.5|/2.25]| 875 -5.0{ 39.4
30/7~9| 7,883 2.1| 2,042:-10.8| 3.86]22,198: 2.2(10,122: -2.4|2.19] 793:-16.2| 38.8
30/10~12| 8,116: 2.9| 1,974: 0.3|4.11}123,393: 2.7[10,057: 1.4|2.33)| 873 -1.9| 44.2
31/1~3]| 8,240 -2.2| 2,255 -4.5|3.65[23,258 0.2| 9,618 0.3]2.42 960; —-6.0| 42.6
31/4~6| 8,078 1.6{ 2,752: -2.0(2.94|23,142: 1.5/ 10,836: -2.9(2.14| 974; -8.1| 35.4
J;t/7~9| 7,641 -3.1| 2,064 1.1{3.70|22,198: 0.0/ 10,085; -0.4| 2.20{ 833: 5.0 40.3
t/10~12| 7,772; -4.2| 1,913; -3.1| 4.06] 22,410; -4.2| 9,623; -4.3| 2.33 862 -1.2| 45.1
2/1~3| 7,929 -3.8| 2,152: -4.6| 3.68]22,007: -5.4| 9,384: -2.4|2.35] 831i-13.4| 38.6
2/4~6| 50923.-26.7| 2,571 -6.6| 2.30| 17,694: -23.5| 10,524: -2.9| 1.68| 823:-15.5| 32.0
2/7~9] 5969:-21.9] 2,063 0.0| 2.89] 16,574: -25.3| 10,789: 7.0/ 1.54] 801: -3.8| 38.8
31E4 A8 | 8,211 1.0{ 3,379: -2.6|2.43]|23,491: 2.7{10,601: -3.0{ 2.22| 983: -3.6| 29.1
JTES5A || 8,409: -0.9| 2,680: -0.7|3.14|22,952; -1.2| 11,006: -3.2| 2.09] 971:-11.5| 36.2
68| 7,614; 5.2 2,197 -2.5( 3.47]22,982: 2.9| 10,900: -2.5 2. 11| 967; -8.9| 44.0
7H | 8115 8.7 2,174: 16.2| 3.73| 22,596: 3.9| 10,421: 2.4|2.17] 913: 8.8| 42.0
8H | 7,511:-16.4| 1,794:-16.5( 4.19] 21,958: -1.6| 9,856: -2.5|2.23| 693: -4.5| 38.6
9H | 7,296 1.4 2,225 5.6 3.28|22,040: -2.1| 9,979: -1.0{ 2.21) 892 9.7| 40.1
108 | 8,825 8.1 2,360: -2.7| 3.74| 22,658: -2.7| 10,068: -4.5| 2.25| 935 -1.6| 39.6
MA | 7,769:-17.7| 1,890: -4.7| 4.11| 22,639 -4.7| 9,816: -4.0{ 2.31| 883: -2.8| 46.7
12A | 6,723; -0.3| 1,489: -1.7| 4.52| 21,933: -5.2| 8,985 -4.4| 2.44| 769 1.2| 51.6
2% 1H| 8329 6.0 2,372 -0.2| 3.51] 21,358; -7.2| 9,179 -3.4| 2.33| 676 -6.5| 28.5
28| 8096i-13.0[ 2,027: -7.1{3.99] 22,178 -4.5| 9,401: -2.1| 2.36] 865 -14.6( 42.7
38| 7,361: -2.6/ 2,057 —6.8] 3.58] 22,486: -4.4| 9,571: -1.8| 2.35| 952:-16.8| 46.3
2F 48| 6,721 -18.1 3,102: -8.2| 2.17} 19,647: -16.4| 10,382: -2.1| 1.89 905: -7.9| 29.2
58| 5 428:-35.5| 2,6118:-21.0( 2.56] 16, 916: -26. 3| 10,381: -5.7| 1.63| 667:-31.3| 31.5
68| 5619:-26.2| 2,492: 13.4| 2.25]| 16,518: -28.1| 10,809: -0.8| 1.53| 897; -7.2| 36.0
78| 6,621:-18. 4| 2,171: -0.1| 3.05] 16, 415: -27.4| 10,644: 2.1| 1.54| 856 -6.2| 39.4
8H | 5 768:-23.2| 1,836: 2.3|3.14]16,511:-24.8| 10,655: 8.1| 1.55]| 692: 0.1 37.7
9R | 5518:-24. 4| 2,183; -1.9| 2.53] 16, 795 -23.8| 11,069: 10.9| 1.52|| 855 -4.1| 39.2
108 | 8,285 -6.1| 2,293: -2.8| 3.61| 18,446: -18.6| 11,418} 13.4| 1.62| 915 -2.1| 39.9
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